


Question 1

Solve the simultaneous equations.
You must show all your working.

2x+3y=13
x+2y=9
% =9-2Y
18-4y +3y = \3
3 =5
% =9-10
= -l
Question 2
Solve the simultaneous equations.
You must show all your working.
é_\'— 8y =1
x+2y = 6%—
x-“& -2
x4 2 = 6-5
T - 18y = -4-5
y = w3 1
8 4
x4 23 =6-5
+1 =65
x 2
o9 =6
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Question 3

Solve the simultaneous equations.

3x+y=3 (2]

Question 4

Find the co-ordinates of the point of intersection of the two lines.

-Ty=28%
4x + 5y =42 [3]

Yt uy s Y
lqg =38
5 = 2

2% -1Yy<2
2% = 16
% =8
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Question 5

Y
Solve the simultaneous equations. ,6“
3x+5y=24 —
- 68
x+T7y=56% 3 | '68
3% 4 2y = 168 -2
3 & 53 = &4 4 |
/
, 3
ey 4y q 63
y- 5 =%
[ 3
X < 56 -63
=-%
Question 6
Solve the simultaneous equations.
oy ¥
“x¥ 3y=12
13 c\0
9 =9
x' = ‘2.- ‘6
w = -3
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Question 7

Solve the simultaneous equations.

Question 8

Solve the simultaneous equations.

x+y=30%3
2 -3} =53
I +py=°

x—5y=0%2
155+ 1Qy =17
2% -9y =0

I3y =13
y =1

%-6=9
xX *
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Question 9

Solve the simultaneous equations.
x+2y=3%2
2x-3y=13
X uy =6
-y=?
y=-
x-2=2
% s S

Question 1

Solve the simultaneous equations 2x+y=5 and 2y=x-10.
205-2%) = %-1°
=% =~ 20
% = 9

=S-8
= -3
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Question 2

Solve the simultaneous equations. 3]
Sx—y=-10 x®
x+2y=9

lol—ﬂ.ge -20
/
% = -t

.-\4256"

ay =19
5.5

Question 3

Solve the simultaneous equations

6x+ 18y = 57,
2r— 3y = 8.%3 [3]

CZ-QS =-24
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Question 4

Solve the simultaneous equations

(3]

2y+3x=6,
x =4y +16.
Question 5
Solve these simultaneous equations.
x+2y—-18=0
3x-4y-4=0 [3]
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Question 6

Solve the simultaneous equations

Question 7

Solve the simultaneous equations

2x+iy=l,x3
6x— 3 y=21.
2
3y-=%
57L+.’.:
|
6n - 5‘1
122 =24
% = 2
=1
Yety=
z -3
7
‘js -6
Jx+2y=16,
2x+L2y=l9.

(3]
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Question 8

Solve the simultaneous equations

Question 1

Solve the simultaneous equations.
You must show all your working.

4x + 5y =0,
8x — 15y =5.
X

2

y=1

[4]
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Question 2
(3]

Solve the simultaneous equations.

You must show all your working.
%x +y=28
x=2y=2
Question 3
Solve the simultaneous equations.
Show all your working.
3x+4y=14
S5x +2y=21 [3]
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Question 4

Solve the simultaneous equations.
You must show all your working.

Question 5

Solve the simultaneous equations.

S5x+2y=-2
3x-5y=174

0.4x - 5y=27
2x+0.2y=9
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Question 6

Robbie pays $10.80 when he buys 3 notebooks and 4 pencils.
Paniz pays $14.50 when she buys 5 notebooks and 2 pencils.

Write down simultaneous equations and use them to find the cost of a notebook and the cost of a pencil.

(3]

Question 7

Find the value of 2x + y for the simultaneous e juations.

3x+ 5y =48 (4]
2x—-y=19
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Question 8

Solve the simultaneous equations.

2x+)3=7

Question 9

Find the co-ordinates of the point of intersection of the straight lines

2+ 3y= 11,%3

(3]

3x—5y=—12. X& (3]

.'. qs 535
105 <724

Hj—
y =2

2% 49=t | %=
2% =2
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Question 10

Solve the simultaneous equations 3]

0.4x+2y= 10
q 56 10

03\»+5y 1. X2
_36

z'x.+|o
06z+ Yy = 3‘

1.4yx =
X = l‘lo =10
Y4

q.|»23=|0

=6
153=3

Question 11
Solve the simultaneous equations
%x +y=35, X2
x-2y=6.

x.u,sslo

/
2% = 16

y ALY

8-23:‘
-13 s -2
9!
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